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Skill Description Example
Compare and | Mumbers increaze in value from 04 0.1
- e [ 8- 1 1
order lalt tor right on & number iing. s o ]
rational —':;' y
nambers.
From least to greatest: —0.4, % 01, 15

Add raticnal

Model an a number ling; Start at

Multiply and
divide raticnal
AUMoers,

nmbers, Lhe Tirsl warnber. Move righl Lo i
- St
add a positive number; move left 12 - o 0.4
10 add a negative number.,
0d v {-1.6)=—-12
Leok Tor cormmuon denomiralors S N PO R B
to add fractions. With deamals, 5 2 i 1
add digits with the same place {187 1135= 52
walue,
Sut_Jrra(:t Add the npposite, a1 ( .]gj _ al+(+12)
rational 3 5 3 5
numbers, =34+1424+ 58

Use the same rules for signs as
with integers. Then deterrnine the
numerical value.

12 i)
_ N
_dﬁ
-187 - 135 =—187 + {(—-13.5)
— =322
_;) W o xE
| a JEE
- |
4

Use order of
operatians to

m

Do the operatiors in brackets
fivat.

avaluate

Mext, evaluate any exponconts,

EXpressions.

Then, divide and multiply in

Finally, add and subtract in

E
D
M| coder from left to rignt.
A
5 | order from left ta right,

(—2.50 + 1.75) + (0.1 — [(—0.412
= —0,75 + (0.1 + {+04%2

— —0.75 + (0.5
= —0.75 : 0.25
= -3
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Unit 3 Review

EX] 1.a) Write each number as a decimal.

—

i) EE = i L= iii) —2% e

h) Find twao rational nurnbers between --% and —%:

4
-3 -2 -1
. T
Two rational nurnbe-s between —% and 3 are and

2. Order these numbars f-am least 1o greatest: —3.9, —3%, -3.2, —%

—~ -2

From least to greatest:

3. Calculate each surn,
a} (—21n448=

b) 2564 ( 18.9) =

c} (—E4+{—38—_

4, Add,
EN 4., 11 2 B - .
a) §+(—:1 b) 3t 75 c](—1§)+2§—( 1+ 204 L+__)
-1 = 11 —
el + = +1_f {'|+2‘J+( + ]
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5. Subtract.

O (5 (P43 wi-Aeiels) asoiepe(g)

|
]
N
+
1]
1]

6. The table snows the elevations of several places an Earih,

Place Elevation [m)

Mt. Everest 8849.7

Mt I ogan 50521

Death Valley —410.9

Dead Sea —417.3

Wirite a subtraction sentence that regresents the diference in the elevations of the given
lzcations. Then calculate the difference.

a) Mt Logan and the Dead Sea b} Ceath Valley and the Dead Seq

g e ~ — -+

The difference i elevations is m. The difference in elevations is M.

<} Mt Everest and Wt Logan

i - +
The difference in elevations is .
7. What is the sign of each produci?
i - . A A2y e L
a) (—38) % (—1.2) b} 0.75 x {—8.6) c 3)( 2] d)( 15)><1L|
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8. Find each product.

2y 4%, 25
&) ( 5)( 20, b (-4 x &
W _ %
% %
B € _ ®
N W - x
1a 1 s 3
_1a gl —3t (23
o -1 %l 0 3% (21J
15 -
= —-— e =K —_—
L= . 3 3 t 11/)
_ ® _ x
= * 2__——__'><
= *

8. Circle the most reasonable ansveer,

Question Mast reasonable answer

a) | 295x48 |1416 1415 1416
b} |54x07 |0378 378 378
o | 3058 x32|97.656 97856 9785.6
d) |375%16 |06 6 80

10, A diver descends at a spead of 0.8 m/min.
How far does the diver descend in 3.5 min?

1he distance the dwer descends s =

The praduct is _Multiply the whole numbers: X =
Estimate: > isadouwt_ X =_

The exacz answeris  x__ = __

The diver descends _ mir 3.5 min,
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EE11. Divide.
[
A 1+ (5)
_1
=& W

EXA 12. Fusluate each exprossion.

ay 1.1 ~31 %7

5 1 &
<) (E)x4+12

140 Copyright @ 2010 Peerson Canada Inc.

bl 1.8+ (-03) +[5.1 —{—29)
=—18+{-0N+[51+__ ]
=—18+(-03+
=TT

&
d) 12 |-§+;\§)

_1§|2X

4 3

3 Fa
=12 +

4 00X _
=]§+

4
= =—m -}

4 -
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